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(Note: This question paper consists of 2 printed pages. Please check that you have all the pages.)

Name Roll No.:
Section: GR No
Subject Teacher’s Sign with date Invigilator’s Sign with date
I. Choose and write the correct answer: (1x5=5)
1.

Tabla, Trumpet, Flute, Sitar
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2. The first letter of ME is this word’s first letter and the second letter of KNEE is its last letter.
The second letter of YOU is twice in it. Which word is it?
a. mean b. moon c. knot d.took

3. Who founded Infosys? :
a. Vishal Sikka b. N.R. Narayana Murthy

c. Kiran Mazumdar Shaw d. Satya Nadella

4. Which of these monuments has rock-cut sculptures of Shiva?

a. Ajanta Caves b. Ellora Caves
c. Elephanta Caves d. Bhimbekta Caves
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5. Bina is taller than Chitra but shorter than Asmita. Chitra is taller than Dolly only. Who is the
tallest ? :
a. Bina b. Asmita c.Dolly d. Chitra

I1. Write true or false: (1x5=b)

1. Abhinav Bindra was the first Indian individual gold medal
winner in Olympics2008.

2. Locust is a very large spider.

3. Wildfire spreads quickly through a forest and destroys it.

4. Mother Teresa was awarded the 1979 Nobel Peace Prize.

5. Golden Temple is located in Odisha looks like a giant chariot.

I11. Write the correct PALINDROMES for the given statements: (1x2=2)

1. It is a popular type of music

2. It is a type of boat originally built by the Inuit

IV. Eill in the blanks: (1x5=5)
1. A breakdown of a mass of soil or rock from a mountain or cliff is known as a

2. 1s known as the ‘Missile Man of India’.

3. Is an excellent food gatherer.

4. Massive sea waves that are caused by an earthquake below the sea are called

5. Is the highest stone tower in India.

V. Current affairs: (1x3=3)
1. Who is the ‘Chief Executive Officer’ of Google?

2. Name India’s fastest indigenous train.

3. Where is the 2022 FIFA World Cup scheduled to take place?
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